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ECONOMICS
( Major )

Paper+i5:5
( History of Economic Thought )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=T7

et fWATfReiRy et Sepies Seq fin

(@) In Germany, Mercantilism was known
as

( Fill in the blank )

SIS TweRIAm WS e CalfRe |
( &R 31 {9 90 )
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(2)

(b) Write the meaning of ‘single-tax system’
as advocated by the physiocrats.

AFRATRCE  CTHFOl A ‘GF9-99 IRZIF
=12f fo7 |

() David Ricardo was a contemporary of
, with whom he had a healthy

exchange of ideas.
( Fill in the blank )

e RIS’ I APTEEE  wRE, I
T (od wgeryd s R TR |
( A1 5% [T T4 )

(d) Who started the Neo-Malthusian
Movement in England in 1820’s?
S0 SHICLAS 2CAYS (I TH-TEA0H
AT A8 FRMRE ?

(e) The term was replaced by the term

‘economics’ in the late 19th century.
( Fill in the blank )

@l So¥ MEFR CEEHe SRS’
xee AfRAfSS (2 |

(AR 5% o 40 )
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(3)

(). Mention one limitation of Say’s law of
markets.

5’3 IuR [ 961 gl Sray 91 |

(g} Name the economist who combined and
modified the teaching of Smith, Malthus
and Ricardo.

g, TEem wE [ Refeg @
G F A PR 2

2. Answer the following questions in brief : 2x4=8

were fr eeTyes o e i

(@) State the two Mercantilists ideas
approved by Keynes.

RH AN ECARl FO SsREAmE 4Rl
TeaEg 790 |

(p) Distinguish between Ricardian and
Marxian theory of value.

ReTE ure TR T oW qere e ey
3 |

(c) State the Ricardian theory of rent.
RPTE’T e wgeht Teay 47 |
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(4)

(d) According to Adam Smith, “Division of
labour is limited mainly by the size of
the market”. Explain in brief.

grY fE o ‘aw [RemH e @RT
WRFRA 7 FAR= | GYF 001 41 |

3. Answer any three of the following questions :

5x3=15
T AR R @ fofRtm e frm -
fa) Explain the main tenets of
Mercantilism.
FASRRIE T Ay T 40

(b) Distinguish between Mercantilists and
Physiocratic ideas.

AR S o Ffoar ez Tere A4
fef 341 |

(c) Distinguish between Smithian concept
of ‘value-in-use’ and  ‘value-in-
exchange’.

Pozg qealRE T o R w073 99919
e “1efey Ay F41 |
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(S)

(d) Explain the two kinds of check to
population  growth = suggested by
Malthus.

q@eres o i sk e S
I 0

(¢ How did Ricardo discuss the
relationship between rent and price?

et @FER el W TRE e HEE
o FfaRe 2

4. Answer any three of the following questions :
10x3=30
oo fi eppE R e fofem e fra

(a) Discuss the physiocratic ideas of the
following :

wers faT SRoare YHCPTYR S 1 :

(i) Economic table
(i) Laissez-faire

Rr=EE Ty M

(iii) Net product
R I
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(6)

(iv) Taxation

9 S

(v) Trade
e

(b) Critically evaluate the Malthusian
theory of gluts.

AT SPIATE SGLOH SIS e

ELIN

(c) “There was nothing original in the ideas
of J. S. Mill and that he just re-stated
the ideas of classical school.” Examine
the statement.

“c8. @b, [ qRIPIER @ ARl w12,
CoCce A HEIS SRfeT STz o
S SR 1”7 SRSCh! “Jm 4

(d) What is surplus value? How did Marx
establish a relationship between
surplus  value and technological
progress along with economic develop-
ment? Explain in detail.

e T R @i T Tge R e
WW%WEWWWWW%
Tl SRR 7 =RE w4 |
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(5% )

(e) Discuss the Say’s law of markets. How
did Malthus oppose Say’s law of
market?

@3 @R REE wwemwa w11 g=ew
@A (6'9 TGR RfET 24l wyoifs wfi3fke 2

() Write a critical note on Smithian theory
of distribution.

Py Redt o1 wirs o1 ST
(Ot fora |

* % %
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